<In case of FSK=Enable >

- o ———

2 BRI P e

ATTEN 20dB MKR 1.67dBm ’
RL 10.0dBm 10dB/ 3.02383G6Hz [ rnm:E £

3.02520GHz(+1.37MHz
4{__/ LLEHH § wen
3.02643GHz(+2.6MHz Sar
MO HOLD ) -
| 3.02767GHz(+3.84MHz , !

g,

—=
TR~ o

v IEU . 3T:f
3.02893GHz(+5.1MHz "}

-
TREIY

BLANK Ry

3.03013GHz(+6.3MHz) j

e
— ik

PR W YUY L g | PR LLTSY Sl
7

SPAN 20.00MHZ

.02383GHzZ
CENTER 3 SWUP 500ms

«RBU 10kHZ YVBU 10kHZ

—————— T &N 0O v 7

<Question1>

Center frequency is 3.02GHz.

General FSK SPI
FSK_EN FSK_SPI_LEVEL FSK_DEV3
FSK_MODE_SEL Disabled - o
SIS R FSK_SPI_DEV_SEL FSK_DEV4
FSK_DEV_SCALE FSK_DEVD - OE
! E FSK_DEVOD FSK_DEV5
0 E 0 E
FSK_DEWV1 FSK_DEVE
0 E 0 E
FSK_DEW2 FSK_DEV7
0 E 0 E

F3K SPI FAST

FSK_SPI_FAST_DEV
622 E

Our customer uses LMX2572EVM with FSK FAST=enable, the result was as the above spectum figure.
(About TICSPro setting, please refer to the file “TICSPro setting : 20200406_LMX2572EVM.tcs”)

On the FSK display on TICSPro, they choose FSK Step=622 and FSK SPI FAS=Enable.

We assumed that the peak(center) frequency shifts to Af. Is our recognition correct?

We would like you to evaluate the same things with LMX2572 EVM, and could you give the result?

<Question2>

In case of FSK SKIP=622, we expected VCO offset shifts 124.4MHz and the output is 62.2MHz,
is our recognition correct? The calculation : Af=FSK Step *PDf *2**1 /DEN — 622*100*10**6/1000 =124.4.




<In case of FSK=Disable, as the reference >

Center frequency is 3.0GHz. — It seems there is no problem.
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